I
o
€
9]
[a]
z
<
5
o}
<]
T
w
<
12
@
c
2
T
e
3
2
o
S
]
€
2
°
2
5
c
[
oD
g
2
[}
8
2
<
I
S
o
w
2
&
o
2
<
>
s
<
)
X

Part number Description Quantity / Dimensions
03 434 4320 00 Screw-kit ball race 16 x M16x1.5x45
Hex bolt 16 x M16x1.5x45 DIN 960
Locking nut 16 x M16x1.5 DIN 980

SAF-HOLLAND GmbH

Aftermarket Europe

Hauptstralle 26 - 63856 Bessenbach - Germany
Tel +49 6095 301-301

SHI/7ollang,

ORIGINAL PARTS

Part number Description Quantity / Dimensions
03 434 4321 00 Screw-kit ball race 24 x M16x1.5x45
Hex bolt 24 x M16x1.5x45 DIN 960
Locking nut 24 x M16x1.5 DIN 980

SEF follong

Group



